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RET = 10 33,424,000
BT = 10 4,517,000
(= = 10 4,517,149
PRIEA B o8 pARY B 19RT wEr | M3 3,064.0 349 1,069,336
IBRA F17T-1SEFT m3 8550 1,588 1,357,740
RIEB 8 osm3 Ay s 1S war | M3 2,9680 349 1,035,832
1BRB $8-1SEFTL m3 4280 1,588 679,664
TERIEEA A BIT-1SERET| m2 1236 499 61,676
ERIEEMB A $E8—1SERT m2 10565 499 52,644
DYVINFEEDA F17—1SEET m2 1236 1,136 140,409
5 VNHEEDB FE8—1SEFTL m2 10565 1,136 119848
EFT = 10 28,770,000
BI7TS-18FT m3 2339 15,166,550
JVD0U—k 18-8-40BB #175-1| m3 2339 29,790| 6,967,881
BRA RATEEFER m2 164.8 11,558 1,904,758
R NRIVAEFRER BB | m2 1168 29,192 3409625
BN NRIVAFEFRR GRED | m2 457 15897 726,492
fBiEiRe t=10mm AFEBRSS| m2 282 11,231 316,714
ARTOvDEHT | 7508 m2 385 40,893 1,574,380
BRI vrE 3750 354 132,750
FrybhOx—0 m 570 2,350 133,950
E8S-1#FL m3 191.0 13,604,330
VO —k 18-8-4088 ®ES-1 148635m3 | M3 1910 29,790 5,689,890
BRA RATEF IR m2 1738 11,668 2,008,780
2R NRIVAEFEEFER BB | m2 1387 29,192 4,048,930
st NRIVAEFER GRED | m2 408 15897 648,597
fBfERe t=10mm AHERES| m2 249 11,231 279,651
ARTOvOFHLT | 7508 m2 173 40,893 707,448
R vIrE ZS 2460 354 87,084
FryvbDOx—0 m 570 2,350 133,950
EETINEMRETL = 10 137,000
iR T = 10 137,442
1REIRERY [BE] FI7-15-5$8-15 [ 20 68,721 137,442
fRe%T = 10 1,409,000
=BT = 10 1,409,000
oK hEERERE = 10 115,389
fioaKiEss = 10 101,488
AE =) 10 13,901 13,901
TEMAErT ER1259m 1BE4m = 10 1,294,407
TEAERET BHTRRUTRAOERLDEES | m3 2,201.0 575 1,265,575
TEREsEH BH=08m3 10,000m3%% | m3 106.0 272 28,832




BEISE = 1.0 34,833,000
HBReREst b2 1.0 5617,193
HBRRE FELITDE 2 1.0 275,000

Z2E b2 1.0 275,855

ZEERE = 1.0 275,855

HBReE (5t H) = 1.0 4,924,052

RIPRBUEE (K5t L) = 1.0 418,141

Iss b2 1.0 40,450,193
RZEEE 2 1.0 13561,310

IR b2 1.0 54,011,503
—REREE = 1.0 9,889,686

—ERESS = 1.0 9,889,000

TS = 1.0 63,900,000
HERIESER b2 1.0 6,390,000

EEREH =y 1.0 70,290,000
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